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#include <iostream> //Input/Output Stream [F74EET » [
#include <stdio.h> [///H 54 11/ By A LI

=

iin A/ Fiyl

using namespace std;

B int main() {

long b, c, d=906,e=0, f=100, 1= e, 3 N; / LT (T
cout << " ﬁ‘ﬁAL#* )ﬂ]‘glf‘r%t\n"; /! L

cin >> N3 ///7 P AN (T

10 N=N%¥*3/2+ 6

11 long* a = new long[N + 1];

12 while (i <= N) a[i++] = 1;

13 for (53 --1 > 0

WoOoNOTUVLALWNERE

14 i==N-6? pr1ntf("\r0 61") : printf("%021d", e += (d += b / f) / f),
15 e=d%f,d=b%f, i -=2)

16 for (j =i, b=06; j; b=b/c* (j-- *2 -1))

17 a[j] = (b += a[j] * f) % (c = J * 10);

18 delete[] a;

19 cin.ignore();

20 cin.ignore();

21 return ©;

221}
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